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QUESTION 1

In Scrum, how would budgeting and financial forecasting be performed? (Choose two.) 

A. Frequently inspect the outcomes of the delivered Sprint Increments to understand how much value is being produced
per investment spent. 

B. A single release may be funded with several Sprints where every Sprint is producing shippable increments. 

C. Budgeting is not necessary as the only funding necessary is the operational costs of the Scrum Teams. 

D. Fixed budgets are not allowed in Scrum. 

Correct Answer: AB 

The cost of developing, delivering, and sustaining products can impact how the flow of value is managed throughout the
life of a product. Each Sprint is an opportunity to inspect the investment (financial, time, effort, etc.) against the returned
value (customer satisfaction, revenue, etc.) of the work that has been delivered. The team can then decide on what it
should do next to maximize the value of the investment. 

 

QUESTION 2

Technical Debt can lead to false assumptions about the current state of the system and the Increment reviewed at the
end of the Sprint. 

A. True 

B. False 

Correct Answer: A 

Technical debt is any shortcomings in the code. It is a natural by-product of software development (unavoidable) and
can at best be managed. If neglected, it will compound and have a negative effect on the team\\'s ability to the deliver
value. A team can have an artificially high velocity by taking shortcuts or introducing technical, debt into the system. This
can give a false assumption about the current state of the product. It can look good on the surface but underneath can
be a mess. 

 

QUESTION 3

Who should manage the tasks of Development Team during the Sprint? 

A. The Project Manager. 

B. The Product Owner. 

C. The Scrum Master. 

D. The Development Team. 

E. All of the above. 



Correct Answer: D 

The Development Team is responsible for managing and tracking the progress of their work during a Sprint 

 

QUESTION 4

Steven, the Scrum Master, observes that one of the Development Team members is not attending the Daily Scrum. The
Development Team feels this is ok as they all sit in the same area and already have constant communication throughout
the day. 

Which is the best action for Steven to take? 

A. Start running the Daily Scrum and require all members to be in attendance. 

B. Talk to the Development Team member privately and tell him that he needs to be a team player. 

C. Ask the Development Team, what value will result from having all team members present at the Daily Scrum and
what are the risks if members don\\'t attend. 

D. The Daily Scrum is owned by the Development Team and it is their responsibility to decide which team 

members must participate. 

Correct Answer: C 

The Scrum Master is responsible for ensuring that the Scrum Team understands the purpose and value of the Scrum
events. Because the Daily Scrum is owned by the Development Team, it will decide how best to run the event. And if
needed the Scrum Master will coach the team to ensure the decisions stay within the boundaries of the Scrum
framework. 

 

QUESTION 5

Steven is a Scrum Master that was hired to help an organization, that is new to Scrum, understands and enacts Scrum
effectively. 

Which three activities would be acceptable? (Choose three.) 

A. Require all teams in the organization to start using Scrum as soon as possible. 

B. Arrange 1:1 coaching sessions to discuss any identified concerns Steven may have. 

C. Schedule formal trainings. 

D. Penalize any Scrum Team members who are not staying within the Scrum Framework. 

E. Educate stakeholders and clients about Scrum. 

F. Extend Retrospectives to include formal training. 

Correct Answer: BCE 

The Scrum Master serves the organization in several ways, including: Leading and coaching the organization in its
Scrum adoption; Planning Scrum implementations within the organization; Helping employees and stakeholders



understand and enact Scrum and empirical product development. 

 

QUESTION 6

Which of these tools is mandatory for the Product Owner to use? 

A. Release burnup chart. 

B. Burndown chart. 

C. Version control. 

D. Project Gantt chart. 

E. None of the above. 

Correct Answer: E 

The Product Owner can use any tool, method or practice that he/she finds fit in order for him/her to make the best
decisions possible. 

 

QUESTION 7

When does a new Sprint begin? 

A. Immediately after the next Sprint Planning. 

B. Immediately after the end of the previous Sprint. 

C. It depends on the Product Owner. 

D. Every Monday. 

Correct Answer: B 

 

QUESTION 8

Which approach would you recommend to ensure that the Product Backlog items discussed at Sprint Planning are well
understood, actionable, and easier to forecast? 

A. Having a separate group of business analysts and functional testers analyzing high-ordered Product Backlog items
before Sprint Planning. 

B. Having the Product Owner work with stakeholders between the end of the last Sprint and before beginning the next to
prepare the Product Backlog items so not to interrupt the Development Team. 

C. Having the business analysts in the Development Team create the upcoming Product Backlog items during a Sprint
and adding them to the next Sprint\\'s forecast. 

D. Having the Development Team use some time during each Sprint to help the Product Owner analyze, estimate, and
design items at the top of the Product Backlog that is projected to be worked on in the upcoming Sprint. 



Correct Answer: D 

Product Backlog refinement is the act of adding detail, estimates, and order to items in the Product Backlog. This is an
ongoing process in which the Product Owner and the Development Team collaborate on the details of Product Backlog
items. During Product Backlog refinement, items are reviewed and revised. The Scrum Team decides how and when
refinement is done. Refinement usually consumes no more than 10% of the capacity of the Development Team.
However, Product Backlog items can be updated at any time by the Product Owner or at the Product Owner\\'s
discretion. 

 

QUESTION 9

A Scrum Team has been working on a product for several iterations and has an average velocity of 55 units of `done\\'
work per Sprint. A second team will be added to work on the same product. 

What might be the impact on the original team? 

A. Their velocity is likely not affected and will remain at 55. 

B. Their velocity is likely to drop and be less than 55. 

C. Their velocity is likely to rise and be more than 55. 

Correct Answer: B 

Similar to membership changes within a single Scrum Team, adding or removing additional Scrum Teams working on
the same product will impact productivity in the short term. Adding additional teams often go through recognizable
stages as they change from being a collection of strangers to a united group with common goals. Bruce Tuckman\\'s
Forming, Storming, Norming, and Performing model describes these stages. 

 

QUESTION 10

What would be typical Scrum Master activities during the Sprint? 

A. Monitor the progress of the Development Team and assigning tasks. 

B. Remove impediments and facilitating inspection and adaptation opportunities as requested or needed. 

C. Avoiding conflicts and escalating to the line managers if conflicts occur. 

Correct Answer: B 

 

QUESTION 11

A Development Team, that has remote team members, typically spends time before the Daily Scrum to setup the
meeting rooms and conference calling equipment and tools in order to have their Daily Scrum. 

How should the Scrum Master handle this situation? 

A. Allow the Development Team to self-manage and decide for itself what to do. 

B. Setup the meeting and tell the Development Team that is how it will be done. 



C. Ask the Development Team members to alternate who is responsible for meeting setup. 

D. Inform management and ask them to solve it. 

Correct Answer: A 

As a self-organized team, they will decide for themselves how to best manage communication between team members.
The Scrum Master will only take action if requested OR if he/she observes that there is a potential problem. 

 

QUESTION 12

Which statement is FALSE in regards to the Sprint Goal? 

A. It is only a forecast and changes during the Sprint as more is learned. 

B. If it doesn\\'t seem achievable, the Development Team has the courage to tell the Product Owner. 

C. The Product Owner respects the Development Team\\'s opinion on whether they can achieve it. 

D. It helps increase focus. 

E. The Scrum Team discusses openly about alternative ways to reach it. 

F. The Development Team commits to it. 

Correct Answer: A 

The Sprint Goal is an objective set for the Sprint that can be met through the implementation of Product Backlog. It
provides guidance to the Development Team on why it is building the Increment. 
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